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DU MSc Environmental Studies

Topic:- DU_J18_MSC_ES

1) The most important constituent of water hardness is
[Question ID = 2576]

1. Nitrogen [Option ID = 10307]

2. Iron [Option ID = 10303]

3. Phosphorus [Option ID = 10301]
4. Calcium [Option ID = 10305]

Correct Answer :-
o Calcium [Option ID = 10305]

2) World’s first national park was established in 1872 largely in response to the efforts of naturalist and writer John Muir who was a
strong believer of: [Question ID = 2603]

1. Utilitarian conservationist approach [Option ID = 10409]
2. Biocentric preservationist approach [Option ID = 10410]
3. Anthropocentric approach [Option ID = 10411]

4. Cultural approach [Option ID = 10412]

Correct Answer :-
e Biocentric preservationist approach [Option ID = 10410]

3) Reverse sexual size dimorphism is often seen in: [Question ID = 2592]

1. Sarus Crane [Option ID = 10365]

2. Raptors [Option ID = 10367]

3. Indian Peafowl [Option ID = 10366]
4. Dabbling ducks [Option ID = 10368]

Correct Answer :-
o Raptors [Option ID = 10367]

4) Microbiome refers to: [Question ID = 2600]

1. Genetic material of the entire collection of microorganisms in a specific niche [Option ID = 10397]
2. Genetic material of all the members of a genus [Option ID = 10399]

3. Genetic material of all the members of a family [Option ID = 10400]

4. Genetic material of all the members of a population [Option ID = 10398]

Correct Answer :-
« Genetic material of the entire collection of microorganisms in a specific niche [Option ID = 10397]

5) Which of the following biomes is least suitable for agriculture? [Question ID = 2615]

1. Boreal forest [Option ID = 10457]
2. Grassland [Option ID = 10460]

3. Savanna [Option ID = 10458]

4. Deciduous forest [Option ID = 10459]

Correct Answer :-
« Boreal forest [Option ID = 10457]

6) Birds and mammals in the colder regions have larger body size compared to their con-specifics of the warmer regions. This
phenomenon is also known as: [Question ID = 2591]

1. Jordan’s Rule [Option ID = 10364]
2. Gloger’s Rule [Option ID = 10363]
3. Allen’s Rule [Option ID = 10361]
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4. Life history events in plants [Option ID = 11307]

Correct Answer :-
« Life history events in plants [Option ID = 11307]

27) Climate change and warming can have these consequences: [Question ID = 2575]

1 Range expansion of diseases to new areas [Option ID = 10296]
2 All of these [Option ID = 10300]

3. Farmers distress [Option ID = 10298]

4. Loss of horticulture productivity [Option ID = 10294]

Correct Answer :-
. All of these [Option ID = 10300]

28) Which one of the following field of studies would be the most appropriate to study the broad scale environmental issues involving
land management problems? [Question ID = 2609]

1. Community ecology [Option ID = 10435]
2 Invasion ecology [Option ID = 10433]
3. Landscape ecology [Option ID = 10434]
4. Population ecology [Option ID = 10436]

Correct Answer :-
e Landscape ecology [Option ID = 10434]

29) Which one of the following facilitates biodiversity in nutrient-poor soils? [Question ID = 2586]

1. Competition [Option ID = 10342]

2 Parasitism [Option ID = 10343]

3. Resource partitioning [Option ID = 10341]
4. Bioaccumulation [Option ID = 10344]

Correct Answer :-
e Resource partitioning [Option ID = 10341]

30) Which one of the following species of mercury accumulates easily in the living cells and is considered highly toxic? [Question ID =
2593]

1. Mercurous ion [Option ID = 10369]

2. Organomercurials [Option ID = 10371]
3. Mercuric ion [Option ID = 10370]

4. Atomic mercury [Option ID = 10372]

Correct Answer :-
« Organomercurials [Option ID = 10371]

31) Which of the following may not be an effect of climate change? [Question ID = 2618]

1. Range expansion of tropical diseases [Option ID = 10469]
2. None of these [Option ID = 10472]

3. Extreme weather events [Option ID = 10470]

4. Immense wildfires [Option ID = 10471]

Correct Answer :-
« None of these [Option ID = 10472]

32) Which of the following is correct about attributes in Geographic Information System (GIS)? [Question ID = 2595]

1. Can be analyzed to determine patterns of importance [Option ID = 10378]

2. Are entered directly into a database where it is associated with element data. [Option ID = 10379]

3. All of these [Option ID = 10380]

4. Pieces of data connected or related to the points, lines or polygons mapped in the GIS [Option ID = 10377]

Correct Answer :-
o All of these [Option ID = 10380]

1. Food web [Option ID = 10418] WWW FirStRanker com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

J._ Firstranker's choice . )
www.FirstRanker.com www.FirstRanker.com

40) Which of the following processes affect the availability of organic content in soil: [Question ID = 2584]

1. Metal speciation [Option ID = 10335]

2. Sorption [Option ID = 10334]

3. All of these [Option ID = 10336]

4. Soil microbial activity [Option ID = 10333]

Correct Answer :-
o All of these [Option ID = 10336]

41) Which of the four Indian states decided to conduct a synchronized elephant census in May 2017? [Question ID = 2622]

1 West Bengal, Odisha, Chhattisgarh, Jharkhand [Option ID = 10487]
2 Odisha, Bihar, Jharkhand, Chhattisgarh [Option ID = 10488]

3. West Bengal, Odisha, MP, Chhattisgarh [Option ID = 10486]

4. West Bengal, Jharkhand, Bihar, Odisha [Option ID = 10485]

Correct Answer :-
. West Bengal, Odisha, Chhattisgarh, Jharkhand [Option ID = 10487]

42) Symbiosis is an intimate long-term relationship between two unlike organisms, where: [Question ID = 2613]

1. All of these [Option ID = 10452]

2. Both partners benefits [Option ID = 10449]

3. One partner benefits but other one is neither harmed nor helped [Option ID = 10450]
4. One partner benefits but the other one is harmed [Option ID = 10451]

Correct Answer :-
o All of these [Option ID = 10452]

43) Dobson unit is a measure of: [Question ID = 2606]

1. CO; concentration [Option ID = 10421]

2. CFC concentration [Option ID = 10422]
3. Ozone concentration [Option ID = 10423]
4. CO concentration [Option ID = 10424]

Correct Answer :-
« Ozone concentration [Option ID = 10423]

44) Inbreeding depression in a species is characterized by: [Question ID = 2611]

1. Reduced fitness [Option ID = 10441]

2. Fixation of useful genes [Option ID = 10442]
3. Speciation [Option ID = 10444]

4. Population explosion [Option ID = 10443]

Correct Answer :-
o Reduced fitness [Option ID = 10441]

45) An example of non-renewable, non-fossil energy resource is: [Question ID = 2587]

1 Tidal [Option ID = 10347]

2 Petrol [Option ID = 10345]
3. Uranium [Option ID = 10348]
4 Coal [Option ID = 10346]

Correct Answer :-
D Uranium [Option ID = 10348]

46) Identify the incorrect statement regarding IPAT model: [Question ID = 2597]

1. IPAT Model was proposed by Biologist Paul Ehrlich and Physicist John Holdren [Option ID = 10385]

2. It is a mathematical relationship between environmental impact and forces driving them [Option ID = 10386]

3. IPAT equation should be carefully interpreted as all the impacts of a particular technology on the complex environmental system are difficult to interpret
[Option ID = 10388]

4. In IPAT, I= Industrial growth, P=Population, A=Affluence, T=Technology [Option ID = 10387]

Correct Answer :-
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